Autumn Scheme of Learning

Year 2

2020-21




Notes and Guidance

New for 2020/21

2020 will go down in history. The world has changed for
all of us.

We want to do as much as we can to support children,
teachers, parents and carers in these very uncertain times.

We have amended our schemes for 2020/21 to:
% highlight key teaching points

Y recap essential content that children may have
forgotten

% flag any content that you might not have covered
during the school closures period.

We hope these changes will add further value to the
schemes and save you time.
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Lesson-by-lesson overviews

We've always been reluctant to produce lesson-by-
lesson overviews as every class is individual and
has different needs. However, many of you have
said that if blended learning becomes a key feature
of school life next year, a weekly plan with linked
content and videos could be really useful.

As always, we've listened! We've now produced a
complete lesson-by-lesson overview for Y1to Y9
that schools can use or adapt as they choose. Each
lesson will be linked to a free-to-use home learning
video, and for premium subscribers, a worksheet.
This means that you can easily assign work to your
class, whether they are working at home or in
school.

Inevitably, this lesson-by-lesson structure won't suit
everyone, but if it works for you, then please do
make use of this resource as much as you wish.

©White Rose Maths



Notes and Guidance

Teaching for Mastery

These overviews are designed to support a mastery
approach to teaching and learning and have been
designed to support the aims and objectives of the new
National Curriculum.

The overviews:

. have number at their heart. A large proportion of
time is spent reinforcing number to build
competency

. ensure teachers stay in the required key stage and
support the ideal of depth before breadth.

. ensure students have the opportunity to stay
together as they work through the schemes as a
whole group

. provide plenty of opportunities to build reasoning
and problem solving elements into the curriculum.

For more guidance on teaching for mastery, visit the
NCETM website:

https://www.ncetm.org.uk/resources/47230
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Concrete - Pictorial - Abstract

We believe that all children, when introduced to a
new concept, should have the opportunity to build
competency by taking this approach.

Concrete - children should have the opportunity to
use concrete objects and manipulatives to help
them understand what they are doing.

Pictorial - alongside this children should use
pictorial representations. These representations
can then be used to help reason and solve
problems.

Abstract - both concrete and pictorial
representations should support children’s
understanding of abstract methods.

Need some CPD to develop this approach? Visit
www.whiterosemaths.com for find a course right for

you.

©White Rose Maths
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Notes and Guidance

Supporting resources
NEW for 2019-20!

We have produced supporting resources for every small
step from Year 1to Year 8.

The worksheets are provided in three different formats:

*  Write on worksheet - ideal for children to use the
ready made models, images and stem sentences.

* Display version - great for schools who want to cut
down on photocopying.

* PowerPoint version - one question per slide. Perfect
for whole class teaching or mixing questions to make
your own bespoke lesson.

For more information visit our online training and
resources centre resources.whiterosemaths.com or email
us directly at support@whiterosemaths.com
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Notes and Guidance

Meet the Characters

Children love to learn with characters and our team within the scheme will be sure to get them talking and
reasoning about mathematical concepts and ideas. Who's your favourite?

.

Whitney

Dexter

Annie

©White Rose Maths



WRM - Year 2 - Scheme of Learning 2.0s
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Year 2| Autumn Term | Week 1to 3 - Number: Place Value

Overview

Small Steps

Counting forwards and backwards within 20
Tens and ones within 20

Counting forwards and backwards within 50
Tens and ones within 50

Compare numbers within 50

Count objects to 100 and read and write numbers in numerals and words
Represent numbers to 100

Tens and ones with a part-whole model
Tens and ones using addition

Use a place value chart

Compare objects

Compare numbers

Order objects and numbers

QOOOO

White

Rase
Maths

Notes for 2020/21

It is important to spend time early
on recapping numbers within 20
and 50 before moving onto
numbers to 100.

Many children will need this recap
as they may not be secure in their
understanding of tens and ones
from Y1, even though they may
have met it.

©White Rose Maths



White

Year 2| Autumn Term | Week 1to 3 - Number: Place Value

Overview

Small Steps Notes for 2020/21

= Countin2s e ) We have separated the step
Count in 5 @ counting in 2s, 5s and 10s into

- . three recap steps in order to
Countin 10s e explore them in more detail.
Count in 3s J

9 ©White Rose Maths



White

Year 1| Autumn Term | Week 10 to 11 - Number: Place Value (within 20)

Count & Write Numbers to 20

Notes and Guidance Varied Fluency

. Match the representations to the correct numeral.

Children are building on their existing knowledge of counting
forwards and backwards by introducing the numbers 11-20
Children should explore the meaning of the suffix ‘teen’ and
what this tells us about a number.

11,12,13 and 15 are usually difficult for children to understand
because they cannot hear the single digit in the name like
others e.g. sixteen - six ones and a ten.

e e e
e Qe
e Qe

12 / 10

. Write the number shown on the ten frames in numerals and

Mathematical Talk words.
o000 oo0e
Let’s count together from 9,10, 11,12, 13, 14, 15, 16 .l. [ .l.

What do you notice about the sounds of the numbers? _
Use your own ten frames to show me the number:

Do you notice a pattern with the numbers? Fourteen 18 Nine 16

What comes after the number 107

What do you notice about the ends of most of these numbers? . Fillin the missing numbers.

What does ‘teen’ tell us about a number? 15 17

How do we say this number?

How would we write ? 16 M

©White Rose Maths



Year 1| Autumn Term | Week 10 to 11 - Number: Place Value (within 20) '

Count & Write Numbers to 20

Reasoning and Problem Solving

Circle the odd one out and explain why. 61is the odd one Mr Monaghan says, Yes because 11is

out. It should be 16, between 8 and 20
the digits have )

n 12 13 14 2207
15 61 1/ 18

| am going to count
to 20

| will start at 8

J

Will Mr Monaghan say 11?

Explain how you know.

©White Rose Maths
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Year 1| Autumn Term | Week 10 to 11 - Number: Place Value (within 20)

Tens and Ones

Notes and Guidance Varied Fluency

Children learn each number from 11 to 19 has ‘1 ten and some . Use the part-whole model to complete the sentences.

more’.

They will see 10 and 20 as having just tens and no ones. My number is @
Children still need to understand that numbers can be seenin

different ways. Discuss 1 ten being equal to 10 ones. One part is , the other part is

Base 10 will be introduced in this step. Children can use these 0 Q
concretely but also draw them as ‘sticks and bricks’. A line The whole is

represents 1ten and a dot represents 1 one.

- My number is ‘)

Mathematical Talk ‘
It has tens and ones.

What numbers come after 10? Q
Which numbers have the ‘teen’ sound in them? The whole is
What does the number look like?
Which is greater 1ten or 1 one? How do you know? . Fill in the ten frames with counters to show 14 and complete the
What does ‘teen’ tell us about a number? sentence.

Can you swap tens for ones?

Will it change the amount? Explain.

Do we need to count the 10 individually?
Do we need to start counting from O every time? 14 has ten and ones.
Can you describe the number using tens and ones?

©White Rose Maths
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Year 1| Autumn Term | Week 10 to 11 - Number: Place Value (within 20)

Tens and Ones

Reasoning and Problem Solving

How many ways can you complete the Open ended eg. 1 Alex makes a part-whole model Alex has counted
part-whole model to show numbers up to | ten and 5 ones the ones as tens
20, using the Base 10 equipment - you make 15 and the tens as
do not have to use it all. ones.

B She should say

Q8

... Ry there is 1 ten and
- ... 8 ones

G 8 :

Her number is 18
She says:
- There are 8 tens and
« 1 one.
Explain her mistake.
What is her number?

©White Rose Maths
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Year 1| Spring Term | Week 5 to 7 - Number: Place Value (within 50)

Numbers to 50

Notes and Guidance

Varied Fluency

Children count forwards and backwards within 50. They use a

number track to support where needed, in particular crossing
the tens boundaries and with teen numbers.

Children build on previous learning of numbers to 20

They learn about grouping in 10s and their understanding of 1
ten being equal to 10 ones is reinforced.

Mathematical Talk

How can we count a larger number of objects more easily.
What happens when we get to 10? 20? 307?

___ones make ___ten.

How many groups of 10 can we see in the number ___?

Which practical equipment is best for showing groups of 10?

. Use the number track to

e count forwards from 35 to 49
e count back from 46 to 38

353637 |38|39 40| 41| 42| 43| 44| 45| 46| 47| 48 | 49|

Can you count from ___to ___ without a number track?

. These images both show the same number of counters.

Which counters are easier to count? Why?

(03
ole
(03
ole

Fo[m|42|43|44|45[46|47]48|49|50]

©White Rose Maths



Year 1| Spring Term | Week 5 to 7 - Number: Place Value (within 50)

Numbers to 50

White

Rase
Maths

Reasoning and Problem Solving

Annie counts how many muffins she has.

(o)o)
~ | have 35 muffins.

[30[31132133[34135136137[38[39140]

Do you agree with Annie?

Explain your answer.

Possible answer:

| do not agree with
Annie because she
has counted 30
twice. There
should be 36
muffins.

Eva is counting from 38 to 24 @A

Will she say the number 397
Will she say the number 297
Will she say the number 197

Explain how you know.

Ron and Whitney are counting.
Ron says:

N—

43,42, 41,40, 41,42

Whitney writes:

0 )12 13RS

Can you spot their mistakes?

Eva will not say 39
or 19 because they
are not between 38
and 24

She will say 29
Children could
show this on a
number track.

Ron has started
counting up after
40 when he should
have continued
counting back.
Whitney has also
written 41 instead
of 14. She has
reversed her digits.

©White Rose Maths



White

Year 1| Spring Term | Week 5 to 7 - Number: Place Value (within 50)

Tens and Ones

Notes and Guidance Varied Fluency R

Children use practical equipment to represent numbers to 50
They continue to build their understanding that ten ones can
be grouped into one ten. They need to practice grouping
equipment into tens themselves (straws, cubes, lolly sticks, 10
frames) before introducing ready made tens or place value
counters.

. Count out 23 straws. How many bundles of 10 can you make?

There are tens and ones.

__tens+ __ _ones =23

It is important that children understand how a number is made . What number is represented in the grid?
up of tens and ones, e.g. 34 = 3 tens and 4 ones. '

Tens Ones | Thereare _ tensand __ ones.

Mathematical Talk g gg@ {Z/g %/ _ tens+_ ones=__

How many have we got? How can we make them easier to

count? . Match the pictures and words. & &» How many?
How many tens are there? W )
How many ones are there? * Four tens and three ones : —
| have ___ tensand ___ones. What number does that make? W (]
How do we record this number in words? e Two tens and five ones STTTTTTTTT TTTTITTTTY —

ST B0y
* Three tens and four ones

o/ @/ 0@ [@F
ooloolaoliod )
e

* Three ones and five tens oo [0/ [0l @
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Year 1| Spring Term | Week 5 to 7 - Number: Place Value (within 50)

Tens and Ones

Reasoning and Problem Solving

The children are completing the part
whole models.

(o}
e Tommy

Are they correct?
Explain why.

Tommy is wrong.
He has wrote 3
which should be
30 or 3 tens.

Rosie is correct -
she has just
recorded the ones
first.

Jack is correct.
10+10=20
Two tens is the
same as twenty.

Dora and Amir both try to build the

same number.

=
Dora Amir

(=) (=
HS ¢

Who is correct?

Can you explain the mistake that has
been made?

Amir is correct.

Dora has got
mixed up with tens
and ones and
shown 4 ones and

2 tens (24).

©White Rose Maths



Year 1| Spring Term | Week 5 to 7 - Number: Place Value (within 50)

Compare Numbers within 50

Notes and Guidance Varied Fluency

Building on previous learning of comparing practical objects
within 50, children now compare two numbers within 50 using
the inequality symbols.

and inequality symbols.

White

Rase
Maths

R

. Use the number track to compare the two numbers using words

19]20(21)23 24 25(26) 27]28/29  29(30) 31|32| 33 34 (35)36 37 38
Children continue to use the language ‘more than), ‘less than’ 21is than 26 () is more than :]
and ‘equal to’ alongside the correct symbols to compare 26 is than 1 — < less than :]
numbers. —
202 02 >0 O<0
Mathematical Talk . Use the 1-50 grid to compare the numbers.
12@21 12 3 4 5 6|7 8|9 10
Which number is more? Which is less? 111211314115 16117 11819 |20
38 O nineteen 21|22 23 24 25 26|27 28|29 30
What could we use to represent the numbers?
3132 33 34 35 36|37 38|39 40
40 () 39 +1
What do <, > and = mean? 4142 43 44 45 46|47 48|49 50

. Use a number line or 1-50 grid to compare:
How do you know you have more or less?
fifteen Q 50 48 Q 39

?
What could you use to help you compare® 28 O 29 2tens < [:

©White Rose Maths



Year 1| Spring Term | Week 5 to 7 - Number: Place Value (within 50) .

Compare Numbers within 50

Reasoning and Problem Solving

Teddy is comparing two numbers. Teddy’s number m. Dora compares the two Dora could change

.@ values. 23 =2tens and 3

could be 21 or 22
! 5 My number is larger It can't be 20 as ones or 33 =3
= than 19 but not one [ 23 ] < [ 3 tens and 3 ]

this is one more tens and 3 ones.
more than 19 ones
than 19.

Change one thing in the values so they
. D -
Pick two dominoes to represent two Children could do

two-digit numbers.

this with a partner.

What could Teddy’s number be? For example,
43 21 :
What can't it be? Possible response:
“ - 43 is larger than
21 as it has more
Then compare them using <, > or = tens.

43>21 21<43
Explain how you know.

©White Rose Maths



White

Year 2| Autumn Term | Week 1to 3 - Number: Place Value

Count Objects to 100

Notes and Guidance Varied Fluency

To build on skills learned in Year 1, children need to be able to  Mf Count and write the number of cars in the car park.
count objects to 100 in words and represent these numbers in
numerals.

one three | four seven | eight ten |eleven
Problems should be presented in a variety of ways e.g. . . i-ﬂ E '

numerals, words and images. Variation should challenge
children by providing them with missing numbers which are There are cars in the car park.
non-consecutive.

. What numbers are represented below?
Write your answer in numerals and words.

Mathematical Talk

0000
4%7 seoee
How can you count the cars? : : o0/

Do you have a strategy? UL

What is one more/one less?

. Match the numerals to the words.

Wh?ch is the lar.gesﬁ number? | 17 48 38 70
Which number is tricky to write in words?

Which numbers sound similar? thirty-eight seventy forty-eight seventeen
How are 17 and 70 different? Can you show me?

20 ©White Rose Maths



White

Year 2| Autumn Term | Week 1to 3 - Number: Place Value

Count Objects to 100

Reasoning and Problem Solving

Jack says he has 61 Jack is incorrect. Each jar contains 10 cookies. There are 48
Is he correct? He has 16 not 61 (forty-eight)
DN LN 2 cookies altogether.
. 10 || 10 |[ 10
O CWs Cosligs | | oudss Children may
) count in 10s and

Explain your reasoning.

1s or know that
there are 4 tens
. . which are equal to
How many cookies are there altogether? = 40 and then count
Here are two sets of objects. The strawberries on 8 more.

are easier to count Write your answer in numerals and
O 9o 99 gg g because they are words?/
oo o9 @ @g § sctoutonten
99 99 g frames. What strategy did you use?
99 e @
o9 @

Which are easier to count? What is the best strategy to use?
Explain your answer.

Did your partner use a different method?

21 ©White Rose Maths
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Year 2| Autumn Term | Week 1to 3 - Number: Place Value

Represent Numbers to 100

Notes and Guidance Varied Fluency

Children need to be able to represent numbers to 100 using a . Here is part of a bead string.
range of concrete materials, such as bead strings, straws, Base
10 equipment etc.

Complete the sentences.

Children should also be able to state how a number is made There are tensand _____ ones.

up. For example, they can express 42 as 4 tens and 2 ones or The number is

as 42 ones. Represent 45 on a bead string and complete the same sentence
stems.

. Match the number to the correct representation.

Mathematical Talk

é Y
w //// One ten and
How have the beads been grouped? How does this help you \ five ones J

count?
Thirty-five
Can you show me the tens/ones in the number? | | | : Y
Qe
Which resource do you prefer to use for larger numbers? Which 25

is quickest? Which would take a long time?

. Represent 67 in three different ways.

22 ©White Rose Maths



Year 2 | Autumn Term | Week 1to 3 - Number: Place Value .

Represent Numbers to 100

Reasoning and Problem Solving

Where would 36 go on each of the 36 How many two digit numbers can you 70,20,72,27
number lines? + : % 100 make using the digit cards?
0 36 : 10
< : ; > ’30 - 4:0
0 702
< —>
0 40
< —>
30 40
What is the largest number? The largest
One of these images does not show 23 | C does not show Prove it by using concrete resources. number is 72
Can you explain the mistake? 23, it shows 32
They have What is the smallest number? The smallest

reversed the tens Prove it by using concrete resources. number is 20
and ones.

[ N
Qa
Qa
a
Q
@

A C
/000 e .
Why can't the O be used as a tens Because it would
E E E number? make a 1 digit
-

number.

23 ©White Rose Maths



Year 2 | Autumn Term | Week 1to 3 - Number: Place Value .

Tens and Ones (1)

Notes and Guidance Varied Fluency

Children should have an understanding of what each digit A Complete the part-whole models.

represents when partitioning a number. @

It is important that children can partition numbers in a variety

of ways, not just as tens and ones. For example, 58 is made

up of 5 tens and 8 ones or 4 tens and 18 ones, or 2 tens and @ ‘

38 ones, etc.

. Complete the part-whole models.

Mathematical Talk @ @ ‘ @ @ @
Which part do we know? How can we use the whole and part to ‘]} ‘ ‘ @ ‘

work out the missing part?

. The ten frames represent lemon and strawberry cupcakes.
Draw a part-whole model to show how many cupcakes there are
altogether.

How can you rearrange the counters to help you count the . O . O O . O O . O Q O .
lemon and strawberry cupcakes? C I @@l ROl |9CeReI®l |

24 ©White Rose Maths

Can you use concrete resources/draw something to help you
partition?




Year 2 | Autumn Term | Week 1to 3 - Number: Place Value .

Tens and Ones (1)

Reasoning and Problem Solving

Complete the extended part-whole

model. @

Complete each part-whole model in a
different way.

25 ©White Rose Maths



Year 2 | Autumn Term | Week 1to 3 - Number: Place Value .

Tens and Ones (2)

Notes and Guidance Varied Fluency

Children continue to use a part-whole model to explore how M} Match the number sentence to the correct number.
tens and ones can be partitioned and recombined to make a

total. 20+1911 10+ 4 40+ 0 80 + 1
Children will see numbers partitioned in different ways. For
example, 39 written as 20 + 19

This small step will focus on using the addition symbol to
express numbers to 100. For example, 73 can be written as 40 14 81 39
7/04+3=73

. Complete the part-whole model and write four number sentences
to match.

What clues are there in the calculations? Can we look at the
tens number or the ones number to help us?
What number completes the part-whole model? @ ‘
. Dora has 20 sweets and Amir has 15 sweets.
Represent the total number of sweets:
»  With concrete resources.

* In a part-whole model.

As a number sentence.
26 ©White Rose Maths

Mathematical Talk

I+ +

+ + |l

What is the same/different about the calculations?

What are the key bits of information? Can you draw a diagram
to help you?



Year 2| Autumn Term | Week 1to 3 - Number: Place Value

Tens and Ones (2)

Reasoning and Problem Solving

.

Teddy thinks that, 40+ 2=42 Fill in the missing numbers.
Teddy has just
combined the

© numbers to make _
40 + 2 = 402 ] 402 without 1ten + 3 ones =13

thinking about
their place value. 2 tens + ones = 23

Explain the mistake he has made.

3 tens + 3 ones =

Can you show the correct answer using
concrete resources?

___tens + 3ones =43

What would the next number in the
pattern be?

27

1ten + 3 ones =
13

2 tens + 3 ones =
23

3 tens + 3 ones =
33

4 tens + 3 ones =
43

5 tens 4+ 3 ones =
53

©White Rose Maths



Year 2 | Autumn Term | Week 1to 3 - Number: Place Value .

Place Value Charts

Notes and Guidance Varied Fluency

Children should formally present their work in the correct A What number is represented in the place value chart?

place value columns to aid understanding of place value.
Tens Ones
It is important for children to use concrete, pictorial and
abstract representations in their place value chart. bbb
LB

. Complete the place value chart using Base 10 and place value
counters to represent the number 56

Mathematical Talk Tens Ones Tens Ones
- On O
How many tens are there? e O O
?

How many ones are there . What number is represented in the place value chart?

What is different about using Base 10 to using place value Tens Ones Write two different number
counters? sentences for this number.
Can you write any other number sentences about the place 9 1 + =

value chart? = +

28 ©White Rose Maths



Year 2 | Autumn Term | Week 1to 3 - Number: Place Value .

Place Value Charts

Reasoning and Problem Solving

How many two digit numbers can you There are nine Do both place value charts show the Yes, they both

make that have the same number of possibilities: same value? have the same

tens and ones? 1, 22,33, 44,55, value of 41
©6,77,88,99 Tens Ones

Show each one on a place value chart. 40+ 1=41

A . 30 + 11 = 41
Tens Ones

Same: Both A and
B show 41

Tens Ones Different: There

are a different
B LR LR number of tens

VLR LR and ones in each
place value chart.

What is the same?

What is different?

29 ©White Rose Maths



White

Year 2| Autumn Term | Week 1to 3 - Number: Place Value

Compare Objects

Notes and Guidance Varied Fluency

Comparing objects is introduced once children have a secure . A packet of sweets contain 10 sweets.

understanding of numbers in a place value chart.
ooy Rosie’s sweets O Amir’s sweets
OO T @t e
9 vO‘.Qt @t

Who has the most sweets?

Children are expected to compare a variety of objects using
the vocabulary ‘more than), ‘less than’ and ‘equal to’ and the
symbols <, >, =

. Use cubes to show that:
e Elevenis less than fifteen

Mathematical Talk . 19s greater than 9
* 2tensisequalto 20

How can you arrange the objects to make them easy to
compare?

O
Do groups of ten help you count? Why? @ Q E OO
Do groups of ten help you compare? Why? )
: © C

©White Rose Maths

. Use <, > or = to complete.



White

Year 2| Autumn Term | Week 1to 3 - Number: Place Value

Compare Objects

Reasoning and Problem Solving

Rosie and Amir are comparing numbers

they have made.

Rosie’s number

Amir's number

Rosie is incorrect
because Amir has
4 tens which
makes 40

and Rosie has 3
tens and 6 ones
which makes 36,
therefore Amir has
more.

Children should
add 3 tensand 4
ones to make 54
on both sides.

Add more Base 10 to make the number
shapes and the Base 10 equal.

If the symbol
changed to < the
smallest amount
they could add is 3

My number is tens and 5 ones.

greater because |
have more objects.

Is Rosie correct?

.
i

B BHH B

How much did you add in total to make

Explain your answer. them equal?

What is the smallest amount you could
add if the symbol changed to <?

31 ©White Rose Maths



Year 2 | Autumn Term | Week 1to 3 - Number: Place Value .

Compare Numbers

Notes and Guidance Varied Fluency

Children compare numbers using the language greater than, . Complete the statements using more than, less than or equal to.
less than, more than, fewer, most, least and equal to.

42 is 46
They are able to use the symbols <, > and = to write number a1 60
sentences. lis +4
Children should have access to concrete resources to help 30+38is thirty-eight
them justify their answers. . Complete the number sentences.

4 tens and 9 ones >
<70+5

Mathematical Talk

= eight tens

Can you prove your answers using concrete resources?

. Put <, > or = in each circle to make the statements correct.

28 () 30

Can you prove your answers by drawing a diagram?

s there more than one answer? 90 O 20 + 28
Do you need to work the number sentences out to decide which 30 +23 O 40 +13
is greater? 20+ 14 O 24
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Year 2 | Autumn Term | Week 1to 3 - Number: Place Value .

Compare Numbers

Reasoning and Problem Solving

How many different numbers can go in
the box?

13 < < 20

True or False?

One ten and twelve ones is bigger than
2 tens.

Explain how you know.

There are six

different numbers:

14,15,16,17,18,19

True

One ten and
twelve ones = 22
Two tens = 20

33

Eva says, Disagree, for

example 19 is
A, smaller than 21

When comparing \
numbers, the number
with the highest
number of ones is
always the bigger

number. J

Do you agree?
Give some examples to support your
answer.
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Year 2 | Autumn Term | Week 1to 3 - Number: Place Value .

Order Objects and Numbers

Notes and Guidance Varied Fluency

Children order numbers and objects from smallest to greatest Mf Circle the numbers 48, 43 and 50 on the number line.
or greatest to smallest. T D D N D D D R N
They should be encouraged to use concrete or pictorial L L A L L LU

. . 1 42 L3 44 45 46 47 48 49 50 51
representations to prove or check their answers.

Children use the vocabulary ‘smallest’ and ‘greatest’ and may Put the numbers 48,43 and 50 in order starting with the smallest.
also use the < or > symbols to show the order of their
numbers. . Use Base 10 to make the numbers sixty, sixteen and twenty-six.

Write the numbers in order starting with the greatest number.

. The diagrams represent different numbers.

Mathematical Talk

0000
00
How does the number line help you order the numbers? _
COO0Q .

How does Base 10 prove that your order is correct?

How did you know which of the diagrams represented the

smallest/greatest number? Circle the greatest number.

Circle the smallest number.
Complete the number sentence >

Did you look at the tens or ones?
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White

Year 2| Autumn Term | Week 1to 3 - Number: Place Value

Order Objects and Numbers

Reasoning and Problem Solving

Order the numbers below.
Which would be the fourth number?

(33](53] | 37]
129]( 34] | 43

Explain how you ordered them.

If | ordered them
from smallest to
largest:

29,33, 34,37 43,
53 then 37 would
be the fourth
number.

Alternatively, if |
order the numbers
from largest to
smallest:

53,43 37 34, 33,
29 then 34 would
be the fourth
number.

35

Mo has written a list of 2-digit numbers. 14,23, 32, 41

(o)o)

< The digits of each number
add up to five.
None of the digits are zero.

Can you find all the numbers Mo could
have written?

Write the numbers in order from smallest
to largest.

What strategy did you use?
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White

Year 1| Spring Term | Week 5 to 7 - Number: Place Value (within 50)

Count in 2s

Notes and Guidance Varied Fluency

Children build on their previous knowledge of counting in . How many socks are there?

multiples of 2 and go beyond 20 up to 50 g,jﬁ,jp,jﬁ,jﬁ,jﬁ,j

They will apply previous learning of one more and one less to There are __socks in total.
counting forwards and backwards in twos. For example, two
more than and two less than. The 1-50 grid can be used to
spot and discuss patterns that emerge when counting in 2s. ' o Q ’ o ve o o o o Q o o ol
There are ___gloves in total.

Represent the gloves using ten frames.

Mathematical Talk . Continue colouring in 2s on the grid. What do you notice?

112 |3| 4|5
mj12 13| 14|15

How many gloves are there?

718|910
17 |18 (19 | 20

How can we count the pairs?
. ] " 21|22 |23 |24|25 2728|2930

What does it mean to count in pairs* 21132133 | 32 | 35 | 36 | 37 | 38 | 39 [ 20
41 (42 | 45| 44 | 45 47 | 48 | 49 | 50

&8 8|5

Can we use tens frames to help us count in 2s?
Can you see any patterns when you count in 2s? . Complete the number

lines by counting in 2s. [ [56) (89) (ars) (w8) [a8) (ae) (a6) (2 ) (e

R I
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White

Year 1| Spring Term | Week 5 to 7 - Number: Place Value (within 50)

Count in 2s

Reasoning and Problem Solving

Count in 2s backwards to complete the 38, 36, 34 Rosie counts back from 50 in 2s. Rosie says 11
number track. Possible answer: Amir counts up from 12 in 2s. numbers to reach
Children will not 30
? | ? | ? |40 |42 | 44| 46 say 25 because it @ Amir says 10
is not a multiple of 50,48, 46, 44... numbers to reach
U U U V U U 2, they will say 28, 30
2less 2less 2less 2less 2less 2 less 26, 24 and 22 So Al get
If you continue counting, will you say the 12.14.16... @ there first.

number 257

Always, sometimes, never... They say their numbers together.

Who will say 30 first.

Sometimes. It

When you count in twos, depends on your

(010) your digits will be 0, 2, 4, starting number.
= 6,8 For example 1, 3,
S)y
Prove it! Also for 12, 14,16,

the tens digit is 1
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Year 1| Spring Term | Week 5 to 7 - Number: Place Value (within 50)

Count in 5s

Notes and Guidance

Children build on previous learning of counting in fives to go
beyond 20 and up to 50

The 1-50 grid can be used to spot and discuss patterns that
emerge when counting in 5s.

Mathematical Talk

How can we count the groups of 57
Can you describe the pattern when you count in 5s?

Will appear on our number line? Why/why not?

Varied Fluency

. How many fish are there?

- = = e - w Lol = e -  w

There are ___fish in each tank.
There are ___ tanks.
There are ___fish altogether.

How many grapes are there?

Sosss6888

There are ___grapes in each bunch.
There are ___bunches.
There are ___grapes altogether.

. Continue counting in 5s on the grid.

112 |3|4|5|6|7(8|]9]|10
M|12|113(14|15(16 17|18 |19 |20
2122123124 |25|26|27|28|29|30
31(32(33|34|35|36|37|38|39|40
41 (42| 43| 44| 45| 46| 47 | 48| 49 | 50

. Complete the number lines by counting in 5s.

White

Rase
Maths
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White

Year 1| Spring Term | Week 5 to 7 - Number: Place Value (within 50)

Count in 5s

Reasoning and Problem Solving

Amir is making this flower pattern with

counters.
@ @ @ O
® 00 00 00 O

Annie says
If you make 9 flowers,
you will use 43 counters.

Do you agree with Annie?
Explain your answer.

Odd One Out

Which is the odd one out? Explain your
answer.

Annie is wrong
because 43 does
notendina5ora

0

If she makes 9
flowers she will
use 45 counters.

27 because you
would not count it
if you were
counting in 5s.
Children also may
give other
responses.

Work in groups. Children can
Create a circle with your hands. You can = practise counting
choose to put in one hand or both in 5s and

hands.

recognise one
hand is worth 5
They may start to
spot patterns and
reason about how
many there will be.

Count how many fingers and thumbs
you can see altogether.

Can you predict how many? Count to
check.
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White

Year 1| Summer Term | Week 1to 3 - Number: Multiplication and Division

Count in 10s

Notes and Guidance Varied Fluency

Children count in groups of tens for the first time. Previously . How many birds are there altogether?

they have counted in 2s and 5s.
They use pictures, bead strings and number lines to support
their counting.

Counting in 10s on a hundred square will also support children There are birds in each tree.
to see the similarities between the numbers when we count in There are trees.
tens. There are birds altogether.

How many flowers are there altogether?

Mathematical Talk W ﬁf m ﬁ m

How many birds/flowers are there in total?

There are flowers in each bunch.
How can we use our number lines to help us count them? Thereare _____ bunches.
There are flowers altogether.

Will appear on our number line? Why?
. Use a 0-100 bead string to count in tens.

Can we count forwards and backwards in tens?
e S 5555555 0000000008

Can we count in tens on a number track as well?
How does this match counting on a bead string?

What is the same about all the numbers we say when we are
counting in tens?
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White

Year 1| Summer Term | Week 1to 3 - Number: Multiplication and Division

Count in 10s

Reasoning and Problem Solving

In a shop, grapes come in bunches of 10 | Yes there are Jemima is counting in 10s on part of a Jemima will say
enough grapes. hundred square. 10, 20, 30, 40 and

There are fifty 50
grapes and Max 1123|4567 |8]|9]|10
@ @ @ only needs forty. w2 @@ |6 |7 ]|e]|e]|e0]| Althenumbers
21|22 |23 |24 |25 | 26| 27 | 28 | 29 | 30 have the same

31| 32|33|34[35|36|37|38]39|40 | onesdigit (0)
M |42 |45 |44 [ 45) 46 | 47 | 48 | 49 | 50 | | They all have

different tens digit.
She starts at 10 The tens digit goes

Max wants to buy forty grapes. up by 1 for each

Shade in all the numbers Jemima will

Are there enough grapes? say. new number she

says.

What is the same about the numbers
she says?

What is different about the numbers?
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Year 2 | Autumn Term | Week 1to 3 - Number: Place Value .

Count in 3s

Notes and Guidance Varied Fluency

Children count forwards and backwards in 3s from any . What do you notice about the numbers that are circled?

multiple of 3 Continue the pattern.
>
Encourage children to look for patterns as they count and use @ 1 2@ 4 5 @7 8 @10 1112 13 14 15 16 17 18
resources such as a number track, a counting stick and
concrete representations. . Complete the number sequences.
15
Mathematical Talk 9 57
6 24
What do you notice about the numbers?
Are the numbers in the sequence getting larger or smaller? 0 18

Can you spot a pattern?

. Amir has 15 stickers. He collects 3 more each day.
Complete the number track to show how many he will have in six

: 0
What are you counting up in® days.

15
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Year 2| Autumn Term | Week 1to 3 - Number: Place Value

Count in 3s

Reasoning and Problem Solving

.

True or False?

| start at O and count in 3s
| say the number 14

>

@

Explain your answer.

False.
If | count in 3s |

say 3,6,9 12,15...

43

Teddy is counting in 2s and Jack is

counting in 3s.

Teddy 2 4 6 8
Jack 3 6 9 12
+
Teddy says, If we add our )

©

numbers together as
we count we can
make a new number
pattern.

J

What pattern do they make?

What happens if both Teddy and Jack
count in 5s and they add them together
to make a new pattern?

If Teddy and Jack
add their numbers
together they will
be counting in 5s.

If Teddy and Jack
both count in 5s
their new pattern

would be counting
in 10s.
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